SECOND AMENDMENT TO GENERAL SERVICES AGREEMENT NUMBER F001393 WITH SMOTHERS PARTS INTERNATIONAL, INC.

This	s Second Ar	nendment to Ag	reement	number F0	01393, d	dated Ap	ril 10, :	2017
("Agreeme	nt") is made	as of this	day of _			2019, by	and be	etween
the City of	Santa Rosa	, a municipal co	rporation (("City"), and	Smothe	ers Parts	Interna	ational,
Inc. a Cali	fornia Corpo	ration ("Contrac	ctor").					•

RECITALS

- A. City and Contractor entered into the Agreement for Contractor to provide auto and light truck parts for City vehicles, as previously amended by the First Amendment.
- B. City and Contractor now desire to amend the Agreement for the purpose of extending the agreement for a one year period, and increasing compensation.

AMENDMENT

NOW, THEREFORE, the parties agree to amend the Agreement as follows:

SCOPE OF SERVICES

Exhibit A to the Agreement is replaced by Exhibit A-1 to this Amendment.

2. TERM, SUSPENSION, TERMINATION

Pursuant to Section 6(a) of the Agreement, the parties hereby agree to extend the term of the Agreement for an additional one year.

COMPENSATION

Section 4 of the Agreement is amended to increase the compensation payable to Contractor under the Agreement by \$253,009 to read as follows:

"The total of all fees paid to Contractor for the satisfactory performance and completion of all services set forth in the Agreement shall not exceed the total sum of \$651,073.47. The Chief Financial Officer is authorized to pay all proper claims from various department charge numbers."

All other terms of the Agreement shall remain in full force and effect.

Executed as of the day and year first above stated.

CONTRACTOR:	CITY OF SANTA ROSA a Municipal Corporation
Name of Firm: Smothers Parts International, Inc.	By:
TYPE OF BUSINESS ENTITY: Individual/Sole Proprietor Partnershipx Corporation Limited Liability Company Other (please specify:)	Print Name: Tom Schwedhelm Title: Mayor APPROVED AS TO FORM:
Signatures of Authorized Persons: By:	Office of the City Attorney
Print Name: <u>Tan Andersen</u> Title: President	ATTEST:
Print Name: Barbara Smathors	City Clerk
Title: Secretary	
City of Santa Rosa Business Tax Cert. No.	
9997047367	
Attachment: Exhibit A-1 Price List	

EXHIBIT A-1

Section 1 -Batteries

	<u>City inventory</u>	Estimated		
Part Number	Number	guantity	<u>Unit Price</u>	Amount
Battery Group 24	24-6YR	10	\$75.07	\$750.70
Battery Group 31 Deep Cycle	31MAGM	1	\$236.32	\$236.32
Battery 31-900CT DELCO	31-900ct	139	\$100.62	\$13,986.18
Battery 31-XHD	31-XHD	6	\$109.96	\$659.76
Battery Blue Top OPTD34M OPTIMA	OPTIMABLUE	86	\$201,12	\$17,296.32
Battery Box NOCHM300BK	20210	7	\$16.99	\$118.93
Battery Group 26R	MT26R	1.	\$74.96	\$74.96
Battery Group 27	27PG	6	\$87.46	\$524.76
Battery Group 27F	MTP-27F	1	\$91.15	\$91,15
Battery Group 31P-MHD	31P-MHD	2	\$97.46	\$194.92
Battery Group 34	MTP34	1	\$87.46	\$87.46
Battery Group 35	MT-35	1	\$79.96	\$79.96
Battery Group 40R	MT-40R	1	\$87.46	\$87.45
Battery Group 47/H5	MT47/H5	1	\$101.62	\$101.62
Battery Group 48	MTP-48/H6	4	\$101.62	\$406,48
Battery Group 59	MT-59	6	\$82.46	\$494.76
Battery Group 65 850 CCA	MT65	1	\$90.79	\$90,79
Battery Group 75	75-6YR	5	\$75.55	\$377.75
Battery Group 78	MTP78	5	\$94.56	\$472,80
Battery Group 86	MTP86	2	\$115.86	\$231,72
Battery Group 8D Side Post 8DBT-1400	8DSIDE	34	\$183.56	\$6,241.04
Battery GROUP 8DXHD Top Post	8D	8	\$159,12	\$1,272.96
Battery Group 90/T5	MTP90/T5	1	\$93,29	\$93.29
Battery Group 94R	MTP-94R/H7	5	\$119.96	\$599.80
Battery group 96R	MTP-96R	7	\$86,03	\$602.21
Battery Group SP35	SP35	5	\$36.60	\$183,00
Battery Groupt 151R	MT-151R	2	\$92,85	\$185,70
Battery Red Top SC34A Optima	OPTIMARED	1.5	\$176.57	\$2,648,55
Battery Trailer AGSLA1056 Interstate	20275	1.2	\$21.31	\$255.72
Battery Trailer SLA1079	SLA1079	2	\$23.30	\$46,60

Section 1 Subtotal \$48,493.67

Section 2 -Belts

	City inventory	<u>Estimated</u>	•	
Part Number	Number	guantity	<u> Unit Price</u>	Amount
Beit 25VX950 gates	3080	5	\$106.83	\$534.15
Belt 9341HD Gates	9341HD '	4	\$14.99	\$59.96
Belt 9440HD Gates	9440HD	2	\$13,31	\$26,62
Belt A43 Gates	. A43	1	\$6.56	\$6.56
Belt A48 Gates	A48	1	\$7,41	\$7,41
Belt B34 Gates	B34	2	\$7.41	\$14,82
Belt K030338 Gates	K030338	2	\$13.31	\$26,62
Belt KO40305 Gates	K040305	1	\$16.00	\$16.00
Belt KO40378 Gates	K040378	4	\$17.69	\$70.76
Belt K040378HD Gates	K040378HD	2	\$21.73	\$43.46
Belt K060888 Gates	K060888	1	\$23.42	\$23.42
Belt K060915 Gates	K060915	2.	\$29.31	\$58,62
Belt K060935 Gates	K060935	2	\$23.42	\$46,84
Belt K060950 Gates	K060950	2	\$29.31	\$58.62
Belt K061005 Gates	K061005	1	\$20.55	\$20,55
Beit K061010 Gates	K061010	1	\$26,96	\$26.96
Belt K061025 Gates	K061025	1	\$28.47	\$28.47
Belt KO61360HD Gates	K061360HD	3	\$42.80	\$128.40
Belt K061369 Gates	K061369	1	\$44,65	\$44.65
Belt K061380 Gates	K061380	2	\$51.22	\$102,44
Belt K080471 GATES	12127	8	\$32.85	\$262.80
Belt KO80496 Gates	K080496	10	\$32.68	\$326.80
Belt KO80570HD Gates	12027	1	\$29.61	\$29,61
Belt KO80575 Gates	11351	2	\$32.68	\$65.36
Belt K080600 GATES	12340	5	\$34.37	\$171.85
Belt K080675 Gates	4080675	9	\$40,27	\$362.43
Belt K080702HD Gates	K080702HD	4	\$43.64	\$174.56
Belt K080780HD Gates	K080780HD	1	\$52.91	\$52,91

Section 2 Subtotal

\$2,791.65

Section 3- Light Bulbs

	<u>City inventory</u>	<u>Estimated</u>		
Part Number	<u>Number</u>	quantity	<u>Unit Price</u>	Amount
Bulb 1003 G.E.	GE1003	5	\$0.55	\$2.75
Bulb 1004 G.E.	GE1004	6	\$1.08	\$6.48
Bulb 105 GE	GE105	1	\$1.69	\$1.69
Bulb 1141 G.E.	GE1141	6	\$0.54	\$3.24
Bulb 1142 G.E.	GE1142	26	\$1.20	\$31.20
Bulb 1156 G.E.	GE1156	11.	\$0.32	\$3.52

P. II. 44 mm m m		1 1		1 .
Bulb 1157 G.E.	GE1157	21	\$0,21	\$4.41
Bulb 161 G.E.	GE161	1 1	\$0.90	\$0.90
Bulb 168 G.E.	GE168	24	\$0.75	\$18.00
Bulb 1893 G.E.	GE1893	2	\$0.39	\$0.78
Bulb 1895 G.E.	GE1895	1 1	\$1,69	\$1.69
Bulb 194 G.E.	GE194	71	\$0.19	\$13.49
Bulb 194A G,E,	GE194NA	14	\$0,75	\$10.50
Bulb 211-2 G.E.	GE211-2	8	\$1.24	\$9.92
Bulb 3156 G.E.	GE3156	3	\$0.82	\$2.46
Bulb 3157 G.E.	GE3157	66	\$0.49	\$32.34
Bulb 3157NA G.E.	GE3157NA	15	\$1.14	\$17.10
Bulb 4114K GE	GE4114K	3	\$4.12	\$12.36
Bulb 4414 G.E.	GE4414	1	\$7.19	\$7.19
Bulb 53 G.E.	GE53	4	\$0.72	\$2.88
Bulb 561 G.E.	GE561	1,	\$2.69	\$2.69
Bulb 67 G.E.	GE67	6	\$0.35	\$2.10
Bulb 68 G.E.	GE68	1	\$1,69	\$1.69
Bulb 70 G.E.	GE70	1	\$0.89	\$0.89
Bulb 7440 GE	GE7440	2	\$1.49	\$2.98
Bulb 7443 GE	GE7443	1	\$1,49	\$1.49
Bulb 795 GE HALOGEN	GE795	5	\$5.59	\$27.95
Bulb 9003 GE	GE9003	9	\$4.26	\$38,34
Bulb 9004 G.E.	GE9004	1	\$2.09	\$2.09
Bulb 9006 G.E,	GE9006	14	\$3.32	\$46.48
Bulb 9007 G.E.	GE9007	6	\$4.15	\$24.90
Bulb 9008 GE	9008B1	3	\$11,91	\$35.73
Bulb 9012	GE9012	8	\$24,79	\$198.32
Bulb 912 G.E.	GE912	1.0	\$0.73	\$7.30
Bulb 921 G.E.	GE921	23	\$0.80	\$18,40
Bulb 922 GE	GE922	1	\$2,69	\$2.69
Bulb 93 G.E.	GE93	6	\$1.52	\$9.12
Bulb BP1255/H1 WAGNER	GEH1	3	\$6.31	\$18,93
Bulb BP1255/H2 WAGNER	GEH2	4	\$7.79	\$31.16
Bulb BP1255/H3 GE	GEH3	2	\$2.42	\$4,84
Bulb GE 9005	GE9005	10	\$4.69	\$46.90
Bulb H11-55/BP GE	GEH11	5	\$5,29	\$26.45
Bulb H4651 G.E	GEH4651	8	\$5.01	\$40.08
Bulb H4656 GE	GE4656	18	\$4.84	\$87.12
Bulb H6054 G.E.	GEH6054	10	\$6,62	\$66.20
Bulb H7 GE	GEH7	1	\$6.19	\$6.19
		* * * * * * * * * * * * * * * * * * * *		
Bulb PC194 G.E.	GEPC194	3	\$1.69	\$5.07

Section 4 -Radiator & Fuel Caps	Section	4 -F	Radiate	or & F	uel Car	15
---------------------------------	---------	------	---------	--------	---------	----

	<u>City Inventory</u>	<u>Estimated</u>		
Part Number	<u>Number</u>	guantity	<u>Unit Price</u>	<u>Amount</u>
Cap 10229 Stant	3942	2	\$4.21	\$8.42
Cap 10230 Stant	2890	4	\$4.21	\$16,84
Cap 10231 Stant	2616	3	\$4.21	\$12,63
Cap 10237 Stant	10821	4	\$2,60	\$10.40
Cap 10282 Stant	898	1	\$6.79	\$6.79
Cap 10328 Stant	4084	1	\$3,90	\$3.90
Cap 10331 Stant	10331	1	\$6.79	\$6,79
Cap 10333 Stant	10333	1	\$6.79	\$6,79
Cap 10817 Stant	4118	1	\$3.96	\$3.96
Cap 10832 Stant	11393	3	\$8.20	\$24.60
Cap 10838 Stant	10838	3	\$6.79	\$20.37
Cap 10838D Stant	10838D	1	\$7.79	\$7.79
Cap 10840D Stant	10840D	2	\$9.09	\$18.18
Cap 10841 Stant	10841	1	\$11.79	\$11.79
Cap 31841 Gates	GAT31841	4	\$11 ,79	\$47.16

			Section 4 Subtotal	\$206,41
Section 5 -Hose Clamps Part Number	<u>City inventory</u> <u>Number</u>	Estimated guantity	<u>Unit Price</u>	Amount
Clamp 32320 Gates silicone hose	301	15	\$2.35	\$35.25
CLamp 32324 Gates silicone hose	3176	6	\$2.35	\$14,10
CLamp CB020 Hose Pronto	3553	7	\$0.39	\$2,73
CLamp CB032 Hose Pronto	2750	16	\$0.49	\$7.84
CLamp CB040 Hose Pronto	3222	8	\$0.69	\$5.52
CLamp Hose 5410 IDEAL	2546	33	\$0,39	\$12.87
CLamp Hose 6202 IDEAL	3359	26	\$0.39	\$10,14
Clamp Hose CB003 Pronto	2974	26	\$0.39	\$10.14
Clamp Hose CB016 Pronto	353	5	\$0.39	\$1.95
CLamp Hose CB024 Pronto	1195	23	\$0.39	\$8.97
CLamp Hose CLA62072 Pronto	2064	2	\$0.99	\$1.98
Clamp Silicone Hose 32308 Gates	7404	13	\$1.68	\$21.84
Clamp Silicone Hose 32312 Gates	1409	3	\$2.35	\$7.05
Clamp Silicone Hose 32316 Gates	2828	14	\$2.35	\$32.90
Clamp Silicone Hose 32328	2859	5	\$2,35	\$11.75
CLamp Silicone Hose 32336 Gates	4489	2	\$2.35	\$4.70
Clamp Silicone Hose 32340 Gates	2629	4	\$2,35	\$9,40
CLamp Silicone Hose 32348 Gates	248	3	\$2.35	\$7.05
CLamp silicone hose32310 Gates	2307	2	\$1.68	\$3,36

Section 6 -Cleaners

Part Number	<u>City Inventory</u> <u>Number</u>	<u>Estimated</u> quantity	<u>Unit Price</u>	<u>Amount</u>
Cleaner Battery NOCO E404	4141	5	\$5,47	\$27.35
Cleaner Battery NOCO A202	2696	3	\$10.21	\$30.63
Cleaner BER0120 BERRYMAN	226	5	\$4.81	\$24.05
Cleaner Castrol Super Clean - Gallon	9679	20	\$18.99	\$379.80
Cleaner CRC05074CA CRC	12202	13	\$4.99	\$64.87
Cleaner Electric Parts Lectra- CRC05018	4616	8	\$5,65	\$45,20
Cleaner Fuel CHV67740 TECHRON	11.491	283	\$8,99	\$2,544.17
Cleaner Glass SPR50	11842	17	\$4.87	\$82.79
Cleaner LITHIUM Spray Lube CRC05037	4677	26	\$3.88	\$100,88
Cleaner WD-40 WDF49004 11oz	4167	20	\$7.99	\$159.80
Cleaner Windshield Wash TWNTTS128	11402	418	\$2.82	\$1,178.76

Section 6 Subtotal

\$4,638.30

Section 7 - Filters

Part Number	<u>City inventory</u> <u>Number</u>	<u>Estimated</u> quantity	Unit Price	<u>Amount</u>
Filter 24048 Wix	24048	1	\$11.68	\$11,68
Filter 24068 Wix	24068	41	\$6.66	\$273.06
Filter 24070 Wlx	24070	12	\$6.17	\$74.04
Filter 24211 Wix	24211	1	\$1237	\$12,37
Filter 24316 Wix	24316	10	313 72	\$137.20
Filter 24348 Wix	24348	2	\$6.39	\$12.78
Filter 24419 Wix	24419	3	\$10.97	\$32,91
Filter 24477 Wix	24477	19	\$917	\$174.23
Fliter 24479 Wix	24479	12	\$10.07	\$120.84
Filter 24483 Wix	24483	2	57.53	\$15.06
Filter 24805 Wix	24805	1	\$40.18	\$10.18
Filter 24815 Wlx	24815	5	\$9,97	\$49.85
Filter 24875 Wix	24875	5	59.20	\$46.05
Filter 33006 Wix	33006	2	\$1.76	\$3.52
Filter 33011 Wix	33011	13	\$1.83	\$23.79
Filter 33032 Wix	33032	1	\$2.22	\$2,22
Filter 33033 Wix	33033	3	92.67	\$8.01
Filter 33063 Wix	33063	1	\$9.96	\$9.96
Filter 33097 Wix	33097	4	\$8,55	\$22,20
Filter 33107 Wix	33107	2	\$3.36	\$6.72
Filter 33116 Wlx	33116	13	\$18198	\$181.74
Filter 33118 Wix	33118	1	55.4 4	\$5.41
Filter 33120 Wix	33120	63	\$5.57	\$350.91
Filter 33136 Wix	33136	2	\$12.25	\$24.50
Filter 33138 Wix	33138	1	\$11.06	\$11,06
Filter 33192 Wix	33192	1	98.97	\$8,97
Filter 33196 Wix	331.96	1	\$938	\$9.38
Filter 33231 Wix	33231	4	\$20.78	\$83.12
Filter 33243 WIx	33243	4	\$6.97	\$27,88
Filter 33248 Wix	33248	12	\$5.92	\$71,04
Filter 33253 Wix	33253	1	57.11	\$7.11
Filter 33296 Wix	33296	2	\$5.22	\$10,44
Filter 33357 Wix	. 33357	3	\$6.63	\$19.89
Filter 33358 Wix	33358	6	\$5,53	\$33,18
Filter 33361 Wix	33361	. 3	\$7.05	\$21.15
Filter 33377 Wix	33377	1	\$7.92	\$7.92
Filter 33386 Wix	33386	1	\$5,63	\$5,63
Filter 33390 Wix	33390	1	\$5,01	\$5.01
Filter 33391 Wix	33391	1	\$7.76	\$7.76
Filter 33394 Wix	33394	4	\$7.75	\$31.00

Filter 33397 Wix	33397	1 .	\$7,29	\$7,2 9
Filter 33399 Wix	33399	2	\$8.11	\$16.22
Filter 33411 Wix	33411	42	\$17.17	\$721.14
Filter 33422 Wix	33422	29	\$14.76	\$428.04
Filter 33424 Wix	33424	8	\$8.63	\$69.04
Filter 33442 Wix	33442	1	\$5.47	\$5.47
Filter 33481 Wix	33481	2	\$7.00	\$14.00
Filter 33484 Wix	33484	1	\$7.81	\$7.81
Filter 33531 Wix	33531	1	\$14.82	\$14.82
Filter 33532 Wix	33532	2	\$14.04	\$28.08
Filter 33533 Wix	33533	1	\$13.96	\$13.96
Filter 33579 Wix	33579	3	\$7.19	\$21.57
Filter 33584 Wlx	33584	1	\$12.70	\$12.70
Filter 33585XE Wix	33585хе	1	\$10:20	\$10.20
Filter 33586 Wix	33586	1	\$16.88	\$16.88
Filter 33595 Wix	33595	28	\$5.55	\$155,40
Filter 33601 Wix	33601	1	\$37.32	\$37.32
Filter 33626 Wix	33626	5	\$8,68	\$43.40
Filter 33630 Wix	33630	2	\$19.20	\$38.40
Filter 33634 Wix	33634	2	\$1239	\$24.78
Filter 33648 WIX	33648	10	\$13.42	\$134.20
Filter 33651 Wix	33651	31	\$6,53	\$202,43
Filter 33668 Wlx	33668	2	\$12.66	\$25,32
Filter 33674 Wix	33674	29	59.62	\$278,98
Filter 33729 Wix	33729	1	\$10.08	\$10.08
Filter 33738 WIX	33738	12	\$12,44	\$149.28
Filter 33747 Wix	33747	1	\$14.59	\$14.59
Fliter 33749 Wix	33749	1	\$9.69	\$9,69
Fliter 33752 Wix	33752	5	\$15.64	\$78.20
Filter 33759 Wix	33759	1	\$12.08	\$12.08
Filter 33780 Wix	33780	1	\$23.71	\$23.71
Filter 33781 Wix	39781	1	\$5.30	\$5,30
Filter 33804 Wix	33804	1.	312.48	\$12.48
Filter 33817 Wix	33817	1,	\$18.19	\$18.19
Filter 33837 Wix	33837	1	\$5.47	\$5.47
Filter 33899 Wix	33899	1	\$38.47	\$38,47
Filter 33934 Wix	33934	1	\$23.46	\$23.46
Filter 33936 Wix	33936	1	\$12.71	\$12.71
Filter 33960 Wix	33960	24	\$24,83	\$511,92
Filter 33964 Wix	33964	3	\$15.05	\$45,15
Filter 33965 Wix	33965	90	\$23.56	\$2,120.40
Filter 33966 Wix	33966	48	\$12.24	\$587.52
Filter 33976 Wix	33976	1	\$13.47	\$13,47

Filter 33977 Wlx	33977	2	\$15.47	\$30.94
Filter 33978 Wix	33978	2	\$17.01	\$34.02
Filter 42013 Wix	42013	2	\$11.59	\$23.18
Filter 42096 Wix	42096	1	\$6.97	\$6.97
Filter 42098 Wix	42098	1	\$4.51	\$4.51
Filter 42222 Wix	42222	1	\$12.63	\$12,63
Filter 42233 Wix	42233	1	\$21.19	\$21.19
Filter 42296 Wix	42296	1	37.75	\$7.75
Filter 42330 Wix	42330	2	\$25.94	\$51.88
Filter 42931 Wix	42331	1	\$15/76	\$15.75
Filter 42389 Wix	42389	. 2	\$6.72	\$13.44
Filter 42487 Wix	42487	10	\$10.28	\$102.80
Fliter 42522 Wix	42522	1.	\$26.96	\$26.96
Filter 42611 Wix	11235	1.3	\$42.90	\$557.70
Filter 42631 Wix	42631	. 1	\$22,64	\$22.64
Filter 42676 Wix	42676	1.	\$25,21	\$25.21
Filter 42725 Wix	42725	1	\$11.21	\$11,21
Filter 42729 Wix	42729	2	\$10.74	\$21,48
Filter 42731 Wix	42731	1	\$34,60	\$34.60
Filter 42793 Wix	42793	4	56.56	\$26,24
Filter 42845 Wix	42845	1	58.49	\$8.49
Filter 46077 Wix	46077	6	\$5.02	\$30.12
Filter 46117 Wix	46117	9	\$6.50	\$58,50
Filter 46133 Wix	46133	1		\$4.17
Filter 46134 Wlx	45134	20	\$4,66	\$93,20
Filter 46253 Wix	46253	2	\$7.45	\$14.90
Filter 46272 Wlx	46272	4	\$14.28	\$57.12
Filter 46302 Wlx	46302	2	\$5.58	\$11.16
Fliter 46418 Wix	46418	5	\$10,07	\$50.35
Filter 46438 Wix	46438	4	\$13.19	\$52.76
Filter 46440 Wix	46440	1	\$11.46	\$11,46
Filter 46449 WIX	46449	7	\$9.69	\$67,83
Filter 46489 Wix	4 6489	1	\$19.38	\$19.38
Filter 46556 Wix	46556	2	342.03	\$84.06
Filter 46562 Wix	46562	4	\$22.14	\$88.56
Filter 46569 Wix	46569	1	\$12.91	\$12.91
Filter 46573 Wlx	46573	2	59.91	\$19.82
Filter 46671 Wix	46671	7	\$20.63	\$144.41
Filter 46672 Wix	46672	3	\$13.16	\$39.48
Filter 46678 Wix	46678	13	\$11.22	\$145.86
Filter 46728 Wix	46728	1	317.29	\$17,29
Filter 46737 Wix	46737	2	\$28,35	\$56.70
Filter 46804 Wix	46804	2	\$12.77	\$25.54

Filter 46813 Wix	46813	1	\$5.47	\$5.47
Filter 46860 Wix	10397	10	\$68.73	\$687.30
Filter 46870 Wix	46870	2	939.36	\$78.72
Filter 46871 Wix	46871	11	\$36,29	\$36.29
Filter 46883 Wix	46883	1	\$40.00	\$40.00
Filter 46891 Wix	46891	4	\$5.47	\$21.88
Filter 46907 Wix	46907	2	\$25.94	\$51.88
Filter 46922 Wix	46922	1	834,7-7	\$34,77
Filter 46923 Wix	46923	1	\$21.61	\$21.61
Filter 46929 Wix	46929	1	\$5.47	\$5.47
Filter 46935 Wix	46935	26	\$6.69	\$173,94
Filter 49040 Wix	49040	1	36.80	\$6,80
Filter 49051 Wix_	49051	1,	\$8.92	\$8.92
Filter 49078 Wix	49078	9	\$5.47	\$49.23
Filter 49087 Wix	49087	4	\$5.24	\$20.96
Filter 49088 Wix	49088	7	\$5,47	\$38.29
Filter 49101 Wix	49101	3	\$1235	\$37.05
Filter 49116 Wix	. 49116	9	\$7,98	\$71.82
Filter 49145 Wlx	49145	1	\$5.53	\$5.53
Filter 49157 Wlx	49157	1	\$7.85	\$7.85
Filter 49184 Wlx	49184	4	\$25.96	\$103.84
Filter 49187 Wix	49187	5	3425010	\$50.50
Filter 49189 Wix	49189	3	51875	\$41.25
Filter 49190 Wix	49190	3	\$23.30	\$69,90
Filter 49223 Wix	49223	1	\$7.29	\$7,29
Filter 49262 Wix	49262	1	\$13.07	\$13,07
Filter 49314 Wix	49314	3	\$16.53	\$49,59
Filter 49368 Wix	49368	1	\$14.87	\$11.87
Filter 49429 Wix	49429	3	\$13,22	\$39,66
Fliter 49560 Wix	49560	15	53137	\$470.55
Filter 49634 Wix	49634	1	58,35	\$8.35
Filter 49666 Wix	49666	16	\$50,41	\$806,56
Filter 49737 Wix	49737	5	\$11.85	\$59,25
Filter 49746 Wix	49746	1	\$14.67	\$14,67
Filter 49817 Wix	49817	2	\$32.43	\$64.86
Fliter 49883 Wlx	49883	17	\$9.63	\$163,71
Filter 49886 Wix	49886	12	\$41.80	\$501,60
Filter 49901 Wix	49901	1	340.75	\$10.75
Fliter 49902 Wlx	49902	5	\$46.38	\$81.65
Filter 51036 Wix	51036	14	\$3.16	\$44.24
Filter 51040 Wix	51040	9	\$9,13	\$28.17
Filter 51042 Wix	51.042	8	\$3.47	\$27.76
Filter 51051 Wix	51051	1	\$5.09	\$5.09

Filter 51056 Wix	51056	5	35.97	\$29.85
Filter 51060 Wix	51060	25	\$3.20	\$80,00
Fliter 51068 Wlx	51068	4	\$2,99	\$11.96
Filter 51083 Wix	51083	1	\$5.64	\$5.64
Filter 51085 Wix	51085	24	\$3,39	\$81.36
Filter 51133 Wix	51133	5	\$5.68	\$28.40
Filter 51158 Wix	51158	1	\$7.52	\$7.52
Filter 51161 Wix	51161	1	\$5.09	\$5.09
Filter 51229 Wix	51229	1	\$14.86	\$14.86
Filter 51243 Wix	51243	2	\$4.01	\$8.02
Filter 51261 Wlx	51261	1	54.88	\$4,38
Filter 51334 Wix	51334	7	\$3.67	\$25,69
Filter 51348 Wix	51348	187	\$3.14	\$581.57
Filter 51356 Wix	51356	12	58,46	\$41.52
Filter 51358 Wix	51358	11	\$5.32	\$58.52
Filter 51365 Wix	51365	13	\$8.93	\$51.09
Filter 51372 Wix	51372	121	\$3.43	\$415.03
Filter 51374 Wix	51374	4	\$3 60	\$14.40
Filter 51394 Wix	51394	26	\$3,35	\$87.10
Filter 51407 Wix	51407	4	\$7,97	\$31.88
Filter 51410 Wix	51410	5	\$5,04	\$25.20
Filter 51411 Wix	51411	3	\$5.65	\$16.95
Filter 51452 Wix	51452	1	\$4.90	\$4,90
Filter 51459 Wix	51459	2	\$6-11	\$12.22
Filter 51495 Wix	51495	1	\$26,65	\$26.65
Filter 51515 Wix	51515	16	\$3.20	\$51.20
Filter 51516 Wix	51516	15	\$3.0%	\$46.05
Filter 51522 Wix	51522	79	\$3.52	\$278,08
Filter 51545 Wix	51545	2	\$11.02	\$22,04
Filter 51551 Wix	51551	3	\$4.47	\$13.41
Filter 51602 Wix	51602	2	\$426	\$8.52
Filter 51607 Wix	51607	13	\$4.91	\$63.83
Filter 51637 Wlx	51637	1	\$9,82	\$9.82
Filter 51649 Wix	51649	1	\$13.78	\$13.78
Filter 51784 Wix	51734	3	\$9.71	\$29,13
Filter 51748XD Wix	51748XD	104	\$27.40	\$2,849.60
Filter 51749 Wix	51749	2	\$13.60	\$27.20
Filter 51768 Wix	51768	2	\$5.81	\$11.62
Filter 51773 Wix	51773	2	\$4.87	\$9.74
Fliter 51791 Wix	51791	13	\$7,14	\$92.82
Filter 51792XE Wix	51792XE	22	\$17.89	\$393.58
Filter 51801 Wix	51801	8	\$14.22	\$113.76
Filter 51806 Wix	51,806	1	\$6.92	\$6.92

Filter 51818 Wix	51818	2	\$7.43	\$14,86
Filter 51846 Wix	. 51846	5	\$5,47	\$27.35
Filter 51970 Wix	51970	11	\$12.27	\$134.97
Filter 51971 Wix	51971	158	511.03	\$1,742.74
Fliter 57035 Wix	57035	2	\$5,18	\$10.36
Filter 57041 Wix	57041	2	\$3.47	\$6.34
Filter 57045 Wix	57045	18	\$3.07	\$55.26
Filter 57047 Wlx	57047	3	\$4.16	\$12,48
Filter 57060 Wix	57060	65	\$3,28	\$209.95
Filter 57064 Wix	57064	- з	\$3,42	\$10.26
Filter 57076 Wix	57076	9	\$5.20	\$46.80
Filter 57082 Wix	57082	7	\$3.66	\$25.62
Filter 57085 Wix	57085	5	55.82	\$29.10
Filter 57090 Wix	57090	9	\$3.89	\$35.01
Filter 57106 Wix	57106	. 5	5435	\$21.75
Filter 57151 Wix	57151	19	\$1127	\$214,13
Filter 57181 Wix	57181	2	5958	\$19.16
Filter 57182 Wix	57182	58	\$7.32	\$424.56
Filter 57196 Wix	57196	1	\$7.02	\$7.02
Filter 57201 Wix	57201	3	\$25,68	\$77.04
Filter 57202 Wix	57202	95	\$5.87	\$557.65
Filter 57203 Wix	57203	11	\$3,85	\$36.85
Filter 57214 Wix	57214	2	\$9,28	\$18.56
Filter 57243 Wix	57243	2	\$9,22	\$18.44
Filter 57246 Wix	57246	1	\$29.02	\$29.02
Filter 57247 Wix	57247	1	\$32.79	\$32.79
Filter 57291 Wix	57291	3	\$22.73	\$68.19
Filter 57311 Wix	57311	1	\$19.12	\$13.12
Filter 57312 Wix	57312	34	\$13.81	\$452.54
Filter 57325 Wix	57325	2	\$8,88	\$17.76
Filter 57356 Wix	57356	20	5334	\$66,80
Filter 57398 Wix	57398	14	\$5,31	\$74.34
Filter 57408 Wix	57408	1	\$26,69	\$26.69
Filter 57502 Wix	57502	187	\$3.45	\$645.15
Filter 57526 Wix	57526	14	\$3,06	\$42.84
Filter 57555 Wix	57555	1	\$8.88	\$8,88
Filter 57557 Wix	57557	14	\$9.02	\$126,28
Filter 57624 Wlx	57624	12	\$43.35	\$520.20
Filter 57674 Wix	57674	4	\$4.59	\$18,36
Fliter 57701 Wix	57701	22	\$10.78	\$237.16
Filter 57702 Wix	57702	1	511.05	\$11,05
Filter 57709 Wix	57709	2	\$30.51	\$61.02
Filter 57723 Wix	57723	5	323.75	\$118.75

Filter 57744XD Wix	57744XD	9	\$28,55	\$256.95
Filter 57745XD Wix	57745XD	1	537.71	\$37.71
Filter 57746XD Wix	57746XD	3	\$28.50	\$85.50
Filter 57750S Wix	57750\$	23	\$9.56	\$219.88
Filter 57792 Wix	57792	2	\$15.60	\$31.20
Filter 57935 Wix	57935	2	54.88	\$9.76
Filter 58099 Wix	58099	2	\$23.86	\$47.72
Filter 58369 Wlx	58369	2	\$19.41	\$38.82
Filter 58608 Wix	58608	8	\$11,49	\$91.92
Filter 58613 Wix	58613	6	\$8,26	\$49.56
Filter 58617 Wlx	58617	1	\$10.55	\$10.55
Filter 58624 Wix	58624	4	\$12.28	\$49.12
Filter 58837 Wlx	58837	3	\$8.89	\$24.99
Filter 58840 Wix	58840	4	\$12.00	\$48.00
Filter 58845 Wix	58845	1	\$16,99	\$16.99
Filter 58846 Wlx	58846	3	\$18.9\$	\$56.85
Filter 58847 Wix	58847	10	\$11.01	\$110.10
Filter 58892 Wix	58892	1	\$27.72	\$27,72
Filter 58904 Wix	58904	2	\$8,67	\$17.34
Filter 58934 Wix	58934	2	55 69 E	\$11.38
Filter 58955 Wix	58955	6	\$10.37	\$62.22
Filter 58966 Wix	58966	9	\$16.59	\$148.77
Filter 58967 Wix	58967	1	\$13.76	\$13.76
Filter 58968 Wix	58968	1	\$15.00	\$15.00
Filter 58970 Wix	58970	10	\$15.10	\$151.10
Filter Spinner Kit BC7186KiT Baldwin	10588	86	\$13.99	\$1,203.14
Filter WA10212 Wix	WA10212	2	\$8.85	\$17.70
Filter WF10059 Wlx	WF10059	19	\$16.03	\$304.57
Filter WF10149 Wix	WF10149	9	\$39.43	\$354.87
Filter WF10158 Wix	WF10158	2	\$17.20	\$34.40
Filter 33732 Wix	33732	1	\$24-21	\$21,21
Filter 57038 Wix	57038	2	\$9.09	\$18.18
Filter WL10010 Wix	WL10010	13	\$3,38	\$43.94

Section 7 Subtotal \$29,901.54

Section 8 - Hose & Fittings

_	<u>City Inventory</u>	<u>Estimated</u>		
Part Number	<u>Number</u>	guentity	<u>Unit Price</u>	<u>Amount</u>
Fitting G25100-1616 Gates	10266	6	\$14.93	\$89.58
Fitting G25179-0404 Gates	12215	1	\$9,56	\$9.56
Fitting G25100-0606 Gates	10256	3	\$3.85	\$11,55

Fitting G25100-0808 Gates	10259	10	\$4.31	\$43.10
Fitting G25100-1008 Gates	10261	1	\$10.04	\$10,04
Fitting G25110-0404 Gates	G25110-0404	1	\$5.98	\$5.98
Fitting G25170-0404 Gates	10275	12	\$3.91	\$46.92
Fitting G25170-0406 Gates	G25170-0406	4	\$4.76	\$19.04
Fitting G25170-0606 Gates	10276	6	\$4.54	\$27.24
Fitting G25170-0610 Gates	10279	1	\$6.84	\$6.84
Fitting G25170-0808 Gates	10278	2	\$5.88	\$11.76
Fitting G25170-0810 Gates	10280	2	\$6.72	\$13,44
Fitting G25170-1212 Gates	10283	1	\$10.03	\$10,03
Fitting G25175-0404 Gates	10285	8	\$11.03	\$88,24
Fitting G25175-0606 Gates	10286	1	\$11.61	\$11.61
Fitting G25179-0606 Gates	10289	1	\$10.60	\$10.60
Fitting G25179-1212 Gates	10292	1	\$22.55	\$22.55
Fitting G60140-1212 Gates	3814	1	\$3.70	\$3,70
Fitting G60142-0808 Gates	G60142-0808	1	\$4.59	\$4.59
Fitting G60144-0812 Gates	G60144-0812	1	\$5,50	\$5.50
Fitting G60312-0606 Gates	G60312-0606	1	\$3.71	\$3.71
Fitting G63160-1004 Gates	G63160-1004	1	\$12.01	\$12.01
Hose 1/2" Fuel	1/2" Fuel Hose	5	\$1.51	\$7.55
Hose 1/2" Heater Hose	4642	2	\$0.99	\$1.98
Hose 1/4" FUEL HOSE	1/4" FUEL	11	\$0.99	\$10.89
Hose 10M3K Gates	10297	30	\$4.50	\$135.00
Hose 5/16 FUEL LINE	5/16 FUEL LINE	50	\$0.99	\$49,50
Hose 5/32" Vacuum	5/32" Vacuum	17	\$0.99	\$16.83
Hose 5/8 Heater Hose	700	25	\$0,99	\$24.75
Hose Hydraulic 16M3K Gates	1,0299	13	\$8,23	\$106.99
Hose Hydraulic 4M3K Gates	10294	88	\$2.19	\$192.72
Hose Hydraulic 6M3K Gates	10295	37	\$2,45	\$90,65
Hose Hydraulic 8M3K Gates	10296	51	\$2.81	\$143,31

Section 8 Subtotal \$1,247.76

Section 9 -Lamps, Mirrors, Mudflaps

Part Number	<u>City inventory</u> <u>Number</u>	<u>Estimated</u> guantity	Unit Price	Amount
Lamp 35375Y TruckLite	10418	7	\$20,49	\$143,43
Lamp 45821 Grote	GRO45821	3	\$2.67	\$8.01
Lamp 60280 Grote	10424	1	\$6.11	\$6,11
Lamp Trucklite 17200	10866	1	\$14,99	\$14.99
Lamp 35375R Trucklite	10419	19	\$21,49	\$408.31
Lamp 45832 Grote	2075	8	\$2,45	\$19.60
Lamp 46283 Grote	GRO46283	3	\$8.51	\$25.53
Lamp 46740 Grote	46740	1	\$2.90	\$2,90
Lamp 46823 Grote	46823	4	\$34.95	\$139.80
Lamp 50852 Grote	50852	1 .	\$6.03	\$6.03
Lamp 52672 Grote/40215R TRUCK-LITE	1532	25	\$6.80	\$170,00
Lamp 52892 Grote	3224	2	\$6.15	\$12.30
Lamp 53702 Grote	53702	1	\$33.82	\$33.82
Lamp 53962 Grote	53962	1	\$38.04	\$38.04
Lamp 60151 Grote	GRO60151	9	\$4.60	\$41,40
Lamp 60261 Grote	10987	2	\$2.38	\$4.76
Lamp 6052 G.E.	GE6052	1	\$10.99	\$10,99
Lamp 62251 Grote	10425	4	\$12.41	\$49.64
Lamp 886 GE	GE886B1	1	\$6.31	\$6.31
Lamp Fog H7921-1 Wagner	H7921-1	3	\$33.84	\$101.52
Lamp G5082 Grote	GROG5082	1	\$66.29	\$66.29
Lamp G6002 Grote	G6002	1	\$22.74	\$22.74
Lamp GRO46282 Grote	GRO46282	12	\$8.51	\$102,12
Lamp Grommet 91740 Grote	20456	5	\$1,52	\$7.60
Lamp GROMMET 92420 Grote	92420	1	\$2.07	\$2.07
Lamp GROTE 53462	10422	3	\$25.79	\$77,37
Lamp GROTE 60301	GRO60301	6	\$3.83	\$22.98
Lamp H6024C1 GE	H6024C1	1	\$10.31	\$10.31
Lamp Pigtail 66843 Grote	20248	5	\$1.67	\$8.35
Lamp Pigtall-trailer Lamp Grote 67050	GRO67050	2	\$1.37	\$2.74
Mirror 12303 Grote	GRO12303	1	\$25.41	\$25.41
Mirror 12333 Grote	GRO12333	1.	\$23.77	.\$23.77
Mirror 16284 Grote	20152	1	\$43.42	\$43.42
Mudflap 24 X 24 2424 KON	7297	9	\$13.89	\$125,01
Mudflap 2430 KON	7298	7	\$5.72	\$40,04
Reflector 40052 Grote	GRO40052	6	\$1.32	\$7,92
Reflector 40132 Grote	GRO40132	2	\$0.93	\$1.86
Reflector 41003 Grote	41003	1	\$28.47	\$28.47
Reflector 41032 Grote	GRO41032	5	\$2.48	\$12,40

Reflector 41033 Grote	GRO41033	5	\$59.82	\$299.10

Section 9 Subtotal

\$2,173.46

Section 10 -Coolant & Oil

•	<u>City inventory</u>	Estimated		
Part Number	<u>Number</u>	quantity	<u>Unit Price</u>	Amount
Coolant 091 SIERRA	11039	2	\$23.99	\$47.98
Coolant Dexcool	DEXCOOL	19	\$14.99	\$284.81
Coolant Green	GREEN COOLANT	4	\$10.99	\$43.96
Coolant-50/50 green	WRN150PR	5	\$7.89	\$39.45
Oil 75W/140 Gear QT. REDLINE Synthetic	75W/140Q	46	\$16.99	\$781.54
Oil Air Tool SLUSL2531	4574	4	\$5.99	\$23.96
Oil ATF +4 Transmission	913PR	26	\$5.59	\$145.34
Oil Brake Fluid Dot 4 12 oz.	DOT4	4	\$2.79	\$11.16
Oil CST06142 Castrol 30WT OIL	CST06142	4	\$5.99	\$23.96
Oil Delo 400LE 15/40 Quart DLOQT15W40	3559	75	\$5,99	\$449.25
Oil Dot 3 Brake Fluid 1 Gal.	TEC2234	3	\$18,99	\$56.97
Oil Dot 3 Brake Fluid, Quarts	DOT3Q	3	\$5.99	\$17.97
Oll Dot3 12oz. brake fluid	DOT3	66	\$2.99	\$197.34
OII HI TEMP RED GREASE SUSSUS67 Super	SUSSUS67	4	\$3,99	\$15,96
Oll Mercon LV, Qts	XT10QLVC	14	\$5.73	\$80.22
Oil P/S Fluid Gal. SLUSL2633 STALUBE	5941	23	\$28.89	\$664.47
OII P/S FLUID PT. SLUSL2631 STALUBE	678	81	\$4.79	\$387.99
Oli RLI57904 LEV 75W90 QT REDLINE	12452	60	\$14.99	\$899,40
OII STA-LUBE SLUSL3360	4179	2	\$5.79	\$11.58
Oil ULTRA DUTY II GREASE Chevron	ULTRADUTY2	35	\$3.79	\$132.65
Oil-10w40 engine	10W40	5	\$3.89	\$19,45

Section 10 Subtotal

\$4,335.41

Section 11 -Paint & Sealant

Part Number	<u>City inventory</u> <u>Number</u>	<u>Estimated</u> <u>quantity</u>	<u>Unit Price</u>	Amount
Paint Cherry red Krylon KRYRTA9230	1287	5	\$7.79	\$38.95
Paint FLAT BLACK SPRAY	740	7	\$7.79	\$54.53
Paint Gloss White KRY51501 Krylon	134	22	\$7.99	\$1 7 5.78
Paint GREY PRIMER KRYFP101 Krylon	4560	11	\$8.79	\$96.69
Paint KRYDE1613 Black Gloss Krylon	593	17	\$7.79	\$132,43
Paint Trim Black Spray TP70	20342	6	\$8.79	\$52.74
Permatex PRM51813	11918	5	\$15,99	\$79.95

Permatex Black Silicone PRM81158	3666	11	\$4,99	\$54.89
Permatex grid repair kit PRM21351	21351	3	\$12.99	\$38.97
Permatex Dielectric PRM22058	1670	13	\$10.99	\$142.87
Permatex Loctite Blue PRM24010	882	35	\$15.99	\$559.65
Permatex Loctite Red Gel PRM27010	1838	5	\$15,99	\$79,95
Permatex PRM80019 FORMA GASKET	2634	1	\$5,99	\$5.99
Permatex PRM80062 HIGH TACK	· 2813	6	\$5,99	\$35,94
Permatex PRM80078 ANTI SEIZE	4340	4	\$8.99	\$35.96
Permatex PRM81173	20234	5	\$15.99	\$79.95
Permatex PRM82190	1999	19	\$1 .99	\$37.81
Permatex Silicone Clear PRM8005	149	37	\$4,99	\$184.63
Permatex Sealant Teflon Pipe PRM59235	1396	26	\$14.99	\$389.74
Permatex Ultra Black Silicone PRM82180	494	22	\$5,99	\$131.78

Section 11 Subtotal

\$2,409.20

Section 12 -Seals & Bearings

Part Number	<u>City inventory</u> <u>Number</u>	<u>Estimated</u> <u>guantity</u>	<u>Unit Price</u>	Amount
Bearing 205FF Timken	· 205FF	6	\$16.67	\$100,02
Bearing-sealed ball type 204SS	1224	6	\$15.06	\$90.36
Seal 370150A Timken	370150A	2	\$27.56	\$55.12
Seal 370182A Timken	11257	11	\$30.46	\$335.06
Seal 370195A or 48960 C/R	11240	4	\$36.00	\$1,44.00
Seal 470361 Tinmken	470361	4	\$6.59	\$26,36
Seal 474276 Timken	198X150	4	\$7.33	\$29.32
Seal 8660S Timken	8660S	3	\$2.84	\$8.52
Seal 8974S 21771 C/R	2183	4	\$2,38	\$9.52
Seal 9150S Tinken	9150\$	12	\$8.08	\$96.96
Seal 9864S Timken	9864\$	5	\$6.59	\$32.95
Seal CR 22532	11102	18	\$14.83	\$266,94
Seal SKF 2401.7	714	4	\$8,83	\$35.32
Seal Tinken 473336	473336	6	33.28	\$19.68

Section 12 Subtotal

\$1,250.13

Section 13 -Spark Plugs

	<u>City inventory</u>	<u>Estimated</u>		
Part Number	<u>Number</u>	quantity	<u>Unit Price</u>	Amount
Spark Plug RC12LC4 Champion	436	26	\$2.79	\$72.54
Spark Plug 41-103 AC Deico	41-103	33	\$7.79	\$257.07

Spark Plug 41-962 AC Delco	41-962	64	\$6,99	\$447.36
Spark Plug 41-993 AC Delco	41-993	12	\$7.79	\$93.48
Spark Plug 844 champion	844	4	\$2.79	\$11,16
Spark Plug Motorcraft SP515	SP515	27	\$13.79	\$372,33
Spark Plug RC12YC Champion	71	3	\$2.79	\$8.37
Spark Plug SP 413 Mototrcraft	SP413	6	\$2.89	\$17.34
Spark Plug SP530 Motorcraft	SP530	4	\$9.79	\$39.16

Section 13 Subtotal

\$1,318,81

Section 14 -Wiper Blades

Part Number	<u>City inventory</u> <u>Number</u>	<u>Estimated</u> quantity	<u>Unit Price</u>	Amount
Wiper Blade 31-16 ANCO	31-16	15	\$2.99	<u>Amount</u> \$44.85
Wiper Blade AR-12E Anco	AR-12E	4	\$4.99	\$19.96
Wiper Blade 31-14 ANCO	31-14	6	\$2.99	\$17.94
Wiper Blade 31-18 ANCO	31-18	88	\$2.99	\$263,12
Wiper Blade 31-20 Anco	31-20	149	\$2.99	\$445.51
Wiper Blade 31-22 Anco	31-22	273	\$2,99	\$816.27
Wiper Blade 31-24 Anco	31-24	9	\$2.99	\$26.91
Wiper Blade 31-26 Anco	31-26	31	\$2.99	\$92,69
Wiper Blade AR14A Anco Rear	AR14A	6	\$4,99	\$29.94

Section 14 Subtotal

<u>ubtotal</u> \$1,757.19

Section 15 -Switches & Electrical

Part Number	<u>City Inventory</u> <u>Number</u>	<u>Estimated</u> quantity	<u>Unit Price</u>	Amount
Switch 5531PT Pico	5531PT	1	\$4.69	\$4.69
Switch 5576PT Pico	55 76 PT	1.	\$5.79	\$5.79
Switch Boot 82-2106 Grote	82-2106	6	\$3.71	\$22,26
Switch Illuminated Toggle 5537PT	4790	1.	\$4.69	\$4.69
Switch M490 push button Cole Hersee	M490	3	\$24.95	\$74.85
Switch Override SSB-5	3463	1	\$10.76	\$10.76
Switch rocker 82-2133 Grote	82-2133	6	\$3.00	\$18.00
Switch SLS43 Standard	2754	1	\$21.87	\$21,87
Switch Toggle 5520 Cole Hersee	20258	3	\$7.69	\$23.07
Traller 2010 BREAK AWAY SW. Tekonsha	3078	3	\$12.99	\$38,97
Trailer Connector plug 0707PT PICO	0707PT	14	\$9.69	\$135.66
Traller Grooved Pins 7021300 Reese	7021300	4	\$0.99	\$3.96
Traller Plug 7-Way 82-1056 Grote	20273	12	\$6.49	\$77.88

Trailer Plug 82-1011 GROTE	3157	17	\$4.80	\$81.60
Trailer Plug 82-1016 Grote	2770	4	\$6.55	\$26.20
Electric Fuse Holder 82-2165 Grote	20212	4	\$1.64	\$6.56
Electrical Buzzer 82-2238 Grote	82-2238	2	\$25.91	\$51.82
Electrical Flasher-579 PM Manufacturing	4414	2	\$30.00	\$60.00
Electrical Fuse Holder 82-2166 Grote	20211	1,3	\$3.65	\$47,45
Electrical Fuse Holder 82-2208 Grote	20213	21	\$3.25	\$68.25
Electrical PWR OUTLET VICV5350 Victor	11831	16	\$9.79	\$156,64
Electrical Relay 0 332 209 150 BOSCH	7160	45	\$8.79	\$395.55

Section 15 Subtotal

\$1,336.52

Total \$103,008.59

PARTS CATALOG PRICE SCHEDULES

Prioling in this section is for parts not specifically identified under Attachment A CORE PARTS but may be ordered by the City of Santa Rosa.

List one or more price sources and discounts for each of the following automotive parts

categories:

MANUFACTURER (NAPA, Bendix, Sealed Power, CRC, Moog, Etc.)	PRICE SOURCE (Catalog, Dealer, Jobber, Warehouse Distributor, Etc.)	PRICE SCHEDULE EFFECTIVE DATE	% DISCOUNT FROM RETAIL PRICE
Automotive Filters (C	Dil, Air, Fuel, Hydraul	ic, Emission, Transn	nission, Etc.)
Wix Filters	Jobber	01/02/17	80.5%
Pro-Tec (Wix economy)	Jobber	01/02/17	63.3%
ATP Trane, Filters	Net Price Sheet	02/06/17	65.8%
Brake Parts (Pads, S	hoes, Rotors, Drums	, Hydraulic Parts, Bı	ake Hardware, etc)
Raybestos Pads/Shoes	Net Price Sheet	01/16/17	56,8% - Pads 49% - Shoes
Centric Hydraulios Brake Rotors	Net Price Sheet	05/01/16	46%
ADVICS -OEM Toyota/Honda Brake Parts	Net Price Sheet	05/11/16	46%
Suspension & Steeri Racks, etc.)	ng Parts (Shocks, Tid	Rods, Ball Joints, I	3ushings, Steering
KYB Shocke/Struts	Net Price Sheet	10/17/16	48%
	ļ .		1070
Moog Suspension/Steering	Net Price Sheet	06/01/15	53.3%

MANUFACTURER (NAPA, Bendix, Sealed Power, CRC, Moog, Etc.)	PRICE SOURCE (Catalog, Dealer, Jobber, Warehouse Distributor, Etc.)	PRICE SCHEDULE EFFECTIVE DATE	% DISCOUNT FROM RETAIL PRICE			
Drive Shaft Components (U-Joints, CV Joints, Boots, Support Bearings, etc)						
Moog U-joints	Net Price Sheet	04/01/14	49%			
		**************************************	,			
Automotive Seals (Gr	ease, Oil)		And the second s			
. Timken Seals	Net Price Sheet	10/21/16	49%			
Bearings (Ball, Taper	ed Roller, etc.)					
Timken Bearings	Net Price Sheet	10/21/15	49% - Bearings 44,8% - Hubs			
IPTC Flange/Pillow Blook Bearings	Net Price Sheet	06/13/16	25%			
Exhaust Parts (Muffle	rs, Pipes, Clamps, H	angers, etc.)				
Magnaflow Catalytic Converters	Net Price Sheet	08/31/16	25%			

MANUFACTURER	PRICE SOURCE	PRICE	% DISCOUNT
(NAPA, Bendix, Sealed Power, CRC, Moog, Etc.)	(Catalog, Dealer, Jobber, Warehouse Distributor, Etc.)	SCHEDULE EFFECTIVE DATE	FROM RETAIL PRICE
Engine Parts (Water	Pumps, Timing Comp	onents, Gaskets, e	etc.)
Gates Water Pumps/Timing Belts/Timing Kits	Net Price Sheet	11/24/16	49%
Fei-Pro Gaskets	Net Price Sheet	04/01/14	41.5%
Alsin OEM Toyota/Honda Water Pump/Timing Kits	Net Price Sheet	01/01/17	40%
Fuel Delivery (Pumps	, Injectors, Seals, etc)	
Airtex Fuel Pumps	Net Price Sheet	05/01/15	41.5%
AC Delco Fuel Pumps & Injectors	Net Price Sheet	02/04/17	35%
Motorcraft. Fuel Pumps & Injectors	Net Price Sheet	02/01/17	30%
Caps (Fuel, Oll, Radio	ator)	Walter Control of the	
Gates Fuel, Oil, & Radistor Caps	Net Price Sheet	01/27/17	49%
	· · · · · · · · · · · · · · · · · · ·		
WEIGHT THE FOR THE THE STATE OF		Malicable Landson Company	

MANUFACTURER (NAPA, Bendix, Sealed Power, CRC, Moog, Etc.)	PRICE SOURCE	PRICE SCHEDULE EFFECTIVE DATE	% DISCOUNT FROM
	(Catalog, Dealer, Jobber, Warehouse Distributor, Etc.)		RETAIL PRICE
gnition & Electrical Sockets, etc.)	Parts (Dist Caps & Ro	otors, Wire Sets, Re	elays, Switches,
Standard Engine Management Wire sets	Net Price Sheet	01/16/17	46 % - Engine Mgt. 50.5% - Wire Sets
AC Delco Engine Management Wire Sets	Net Price Sheet	02/04/17	35%
Motorcraft Engine Management	Net Price Sheet	02/01/17	35%
Denso OEM Toyota/Honda Wire Sets	Net Price Sheet	01/03/17	Varles by Part# 40.8% Average
Spark Plugs			•
Bosch 8park Plugs	Net Price Sheet	10/01/11	61.4%
AC Deloo OEM GM Spark Plugs	Net Price Sheet	02/04/17	35%
Motororaft OEM Ford Spark Plugs	Net Price Sheet	02/01/17	36%
Denso OEM Toyota/Honda Spark Pluge	Net Price Sheet	01/03/17	Varies by Part # 39.3% Average
Belts Hoses and Ho	se Clamps		
Gates Belts & Hoses	Net Price Sheet	01/27/17	49%
Cadna Hose Clamps	Net Price Sheet	09/01/14	45%
enging on the control of all validations of the control of the con		,	

MANUFACTURER (NAPA, Bendix, Sealed Power, CRC, Moog, Etc.)	PRICE SOURCE (Catalog, Dealer, Jobber, Warehouse Distributor, Etc.)	PRICE SCHEDULE EFFECTIVE DATE	% DISCOUNT FROM RETAIL PRICE
Caps, Thermostats a	ınd Gaskets		
Gates Thermostats	Net Price Sheet	01/27/17	49%
Fel-Pro Geskets	Net Price Sheet	04/01/14	46%
Alsin OEM Toyota/Honda Thermostats	Net Price Sheet	01/01/17	40%
Seal Beams & Lamps	3		P per projection
Philips Seal Beams & Lamps	Net Price Sheet	08/01/16	Varies by Part # 44.4% Average
Lighting & Mirrors			
Grote Lighting & Mirrore	Net Price Sheet	01/01/16	Varies by Part # 57.9% Average
K-Source Mirrore	Net Price Sheet	01/25/17	Varies by Part# 13.4% Average
TYC Headiight/Tail Light Assemblies	Net Price Sheet	01/06/17	46%
Windshield Wiper Pa	ırts (Blades, Refills, A	\rms, etc.)	
Anco Blades, Refills & Arms	Net Price Sheet	01/01/16	46%
Bosch Wiper Blades	Net Price Sheet	01/01/17	40%
Valeo Wiper Blades	Net Price Sheet	08/08/16	55%

MANUFACTURER (NAPA, Bendix, Sealed Power, CRC, Moog, Etc.)	PRICE SOURCE (Catalog, Dealer, Jobber, Warehouse Distributor, Etc.)	PRICE SCHEDULE EFFECTIVE DATE	% DISCOUNT FROM RETAIL PRICE
Automotive Air Con	ditioning Parts		
Four Seasons A/C Components	Net Price Sheet	04/07/16	35%
AC Delco A/C Components	Net Price Sheet	02/04/17	35%
Denso A/C Compressors	Net Price Sheet	01/03/17	Varies by Part # 44.3% Average
Automotive Chemic	als (Sealers, Lubricant	s, Cleaners, etc.)	
Prematex/Loctite Sealers	Net Price Sheet	01/25/17	Varies by Part # 29.4% Average
CRC Chemicals	Net Price Sheet	01/25/17	Varies by Part # 25.7% Average
Sta-Lube Lubricents	Net Price Sheet	01/25/17	Varies by Part # 15% Average

Specifications and Scope of Work

NOTE: Any deviations from the written specifications shown in the Request For Quotes shall be noted in the Exceptions Section of the Requisition (see Required Data Section).

In order to receive full consideration, bids must fully follow these Specifications and invitation For Bids General Conditions.

BACKGROUND

The City of Santa Rosa Public Works Department Fleet Maintenance Division Garage is located in the Municipal Services Center North Complex at 55 Stony Point Road, Santa Rosa, CA 95401. The Fleet Maintenance Division maintains the City's fleet of approximately 1,000 vehicles and equipment of many different types including passenger cars, light trucks, medium and heavy duty trucks, fire apparatus, transit buses, construction equipment, sewer maintenance equipment, trailers and turf maintenance equipment. Current staffing at the garage includes the Fleet Superintendent, two Supervisors, two Service Writers, twenty Mechanics and Service Workers and three Parts Room staff including a Stores Specialist and one Stores Clerk. The Garage's parts inventory includes 2200 items valued at approximately \$440,000.

The Garage schedules three shifts beginning at 5:30 am and ending at 12:00 pm, Monday through Friday, and 7:00 am to 5:30 pm on Saturday' and Sunday. Hours worked on holidays observed by the City are usually the same as the normal schedule. However, Garage staff is on call 24/7/365 to provide emergency services as required to support City departments that provide public service outside Garage business hours. This may include emergency repair of fire apparatus, transit coaches and construction equipment. Therefore, it is mission critical for Garage staff to have access to parts inventories both during and after normal business hours.

SCOPE OF WORK

The City seeks to establish a two-year term contract with three one-year renewal options for the furnishing of auto and light truck parts for use by the City's Fleet Services Division to maintain and repair City vehicles. The parts provided under this contract will be used to maintain and possibly replace portions of the City's Stores Division inventory of high-usage parts, and for immediate use in the repair and maintenance of vehicles. The City's total estimated annual usage for this contract is \$150,000.

The most desirable award would go to a single contractor; however, the City reserves the right to make a multiple award should it be determined to be in the best interest of the City.

MINIMUM SPECIFICATIONS

Bidders shall mark their compliance with the Minimum Specifications (Yes or No) in the spaces below.

Bidder Compliance Yes No		1.0 Automotive Parts Specifications	
programpy ample desired expe	general de distribute de la companya	1.1 General	The technical specifications are as described in the line item to be bid. For additional information, bidder should contact the suggested manufacturer.
		1.2 Parts Quality	The Contractor is required to provide automotive parts that meet or exceed the Original Equipment Manufacturers (OEM) specifications for that part. The automotive parts offered under this solicitation and resulting contract must be from the parts manufacturer's highest quality grade product line supplied to the Contractor. Parts from second tier or lesser graded product lines are not acceptable. The City will be the sole judge as to the quality and acceptability of the automotive parts being bid.
	electron companie	1.3 Warranty	All automotive parts are required to be warranted from defects in materials and workmanship at full replacement value of the part for a minimum period of one-year from the date of installation by the City.
		1.4 Labor and Material Costs Associated with Defects	The Contractor shall not be responsible for City labor costs associated with removing and replacing defective parts provided under the contract, unless the fallure rate for a particular part exceeds 5% during a contract period, or a part fallure causes a related component fallure. In the latter two cases, the Contractor shall reimburse the City for actual material and labor expenses incurred.
	Internative to the second of	1.5 Parts Catalogs	The Contractor shall provide current product catalogs, buyers' guides and technical catalogs in printed form or in electronic form available via the internet for all parts provided under the contract. NOTE: The City prefers these documents in electronic format. Printed catalogs and internet services shall be provided to the City as they become available, and shall be provided by Contractor at no cost to the City.
	post surgenessed gas as some	1.6 Price Lists	The Contractor shall provide current wholesale net price lists for all parts provided under the contract in printed form or in electronic form available vis the internet. The City shall be charged according to the most current price lists provided by the Contractor, less any offered discounts. Updated price lists shall be provided to the City as they become available, and shall be at no cost to the City.

Bidder Compliance Yes No		2.0 Service Specifications	
POSTEROSSELLERALAME	Freedable Market Market and Advanced and Adv	2.1 Parts Inventories	The Contractor shall maintain minimum inventory stock levels or have access to inventory to adequately support City requirements. Parts to support the City's on-site Garage Stores core inventory list (Attachment A) shall be available and delivered to the City within the same day as requested. All other parts shall be delivered within 24 hours after requested. It is anticipated the Contractor will have most parts in stock, in which case the parts will be delivered during the next scheduled delivery. The Contractor shall update their inventory as required to support City inventory adjustments and add items to inventory as needed by the City to reduce next day delivery times.
Annual and annual position of		2.2 Parts Deliveries	NORMAL DELIVERIES: The Contractor shall routinely deliver parts to the City of Santa Rosa MSCN Garage when requested within the following parameters: Monday through Friday, 7:30 AM to 6:00 PM, normally 4 to 6 deliveries required. Saturday and Sunday, 8:30 AM to 6:00 PM, normally 2 deliveries required. Delivery times shall be within one-hour after City places order and shall be at no additional cost to the City. AFTER HOURS DELIVERIES: Urgent after-hours deliveries shall be made as soon as possible, not exceeding 1-½ hours after order is placed, and shall normally be required only until 11:30 PM Monday through Friday, and until 9:00 PM on Saturday. No deliveries shall be required on City holidays when vendor is closed, except in emergencies. All deliveries shall be at no cost to the City. Contractor shall provide the City an employee call list for after-hours deliveries that the Contractor will maintain and provide updated copies as employee changes occur.
			PARTS PICK-UP AND DELIVERY FROM OEM SUPPLIERS AND MACHINE SHOPS: When requested by the City, the Contractor shall pick-up and deliver parts to the City supplied by Original Equipment Manufacturer (OEM) dealerships and vendors that provide parts and services when the Contractor cannot provide the part from their own inventory. The Contractor shall also transport parts for machining to and from machine shops selected by the City. The area for dealership and machine shop pick-up and deliveries shall include Santa Rosa, Rohnert Park/Cotati, Petaluma, Sebastopol, Windsor and Healdsburg between the hours of 8:00 AM and 3:00 PM Monday through Friday. Said pick-ups and deliveries shall be performed by Contractor within 2 hours at no cost to the City. NOTE: Contractor's employees shall adhere to the posted speed limit within the City Municipal Services Center - North.

Bidder Compliance Yes .No		2.0 Service Specifications	
*****************		. 2.3 Delivery Charges	Parts deliveries shall be FOB Destination Freight Prepaid and Allowed. The City shall be notified when parts are ordered if freight charges will be accessed. Freight charges will be allowed only for certain special orders.
<u> </u>	b	2.4 Returns	The Contractor shall accept the return of all items ordered in error for any reason by the City at the original purchase price. The City shall ensure all returns are in original unsolled packaging. The Contractor shall pick-up returns weekly and credit all returns within seven business days after notification by the City. Copies of credits shall be provided to the Garage Stores Specialist within this seven working day period. All returns shall be at no cost to the City, and there shall be no restocking fees.
✓	**************************************	2.5 Defective Items and Cores	The Contractor shall pick up and process for credit all defective parts within 7 business days after notified by the City. Copies of credits shall be provided to the Garage Stores Specialist before the end of this 7 business day period. The Contractor will not assess core charges on their invoices to the City and cores will be picked up and returned weekly.
	Limbs M. and Amystiger-seq	2.6 involces	For each parts delivery the Contractor shall provide a neat and legible invoice which shall include the following minimum information: Name of Contractor Contract number Itemized list of parts delivered, including part numbers Date of delivery Site of delivery Quantities, unit list prices, unit discounted prices, extensions, and total amount the City will be charged for that delivery. Invoices shall be consecutively numbered. Vehicle number for which parts were ordered (not required for inventory items)
√		2.7 Monthly Statements	A summary billing statement shall be submitted monthly to the City's Accounts Division. Payable Statements shall reference the contract number, and list all invoices for purchases during the previous month, invoices shall be identifiable by invoice number and date and shipping location. Payment terms shall be Net 30.
		2.8 Reports	Quarterly reports shall be provided to the Garage Stores Specialist that detail and summarize the City's parts usage. Reports shall include quantities and prices paid. Reports or a cover letter for the reports shall evaluate contract performance, and identify areas of concerns,

Bidder Co Yes	ompliance No	2.0 Service Specifications	
		\$	including stock shortages, late deliveries, and parts replaced under warranty.
(1-4-r)	Pagement of the state of the st	2.9 Sales Representative	A knowledgeable sales representative shall be assigned to the contract. This sales representative shall be readily available to answer questions and perform site visits when requested by the City.
✓		2.10 Electronic Ordering	The Contractor shall provide the City Garage Parts Department with access to the Contractor's data system via the internet. The internet service will be used by garage staff for purposes of querying the Contractor's inventory database for parts availability, parts applications, pricing and to place orders electronically.
	Market and the state of the sta	2.11 Non-Stocked Parts Orders	The Contractor shall have the capability to obtain parts that are not routinely stocked in the Contractor's Inventory and deliver said non-stocked parts the same day as ordered by the City
	Proc. St. Action in the Control of t	2,12 Battery Services	During the contract term, the Contractor shall provide materials-handling equipment in the form of a cart or dolly to be left on site at the City Garage to load and unload batteries and other heavy items. The equipment shall remain the property of the Contractor, shall be maintained by the Contractor and removed upon termination of the contract.
Matter Importation of the control of			Contractor shall periodically test new batteries in the City's inventory and replace any defective new batteries.
		2.13 Technician Training	Contractor shall provide at no cost to the City access for City automotive technicians to attend technical training classes sponsored by parts manufacturers and distributors (e.g. AC-Delco, Motorcraft). A minimum of two classes each calendar year will be provided. The Contractor shall also provide access to online training programs for City automotive technicians.

Special Provisions

NON-MANDATORY PRE-BID MEETING: The City will conduct a one-time only non-mandatory pre-bid meeting on Thursday, January 19, 2017 at 10AM located at the City Purchasing Office, 635 1st St., 2nd Floor, Santa Rosa, CA 95404. The purpose of this meeting is to give prospective bidders the opportunity to meet with City staff from the Public Works Department Fleet Maintenance Division and Finance Department Purchasing Division to review the Invitation For Bids and clarify their understanding of the City bid and contract requirements, and to familiarize themselves with all conditions that may affect the performance and cost of the contract. NOTE: Failure to become familiarized with all conditions shall not constitute a basis for subsequent contract adjustment.

QUALIFICATIONS OF CONTRACTOR: Qualified Contractors shall be commercial wholesale and retail distributors of automotive parts and supplies and are required to have a physical business location within Sonoma County, California. The Contractor shall have been continuously engaged in the business of automotive parts and supply sales for a minimum period of five years. Due to the service requirements stated in **Service Specifications**, **Section 2**, the City does not intend to award the contract to a bidder that has a physical business address located outside of Sonoma County, California, including online sellers of automotive parts and supplies.

CONTRACT PERIOD: The resulting contract shall be in effect from March 1, 2017 or date of award if subsequent thereto through February 28, 2019, with the option to renew the contract for three 1-year extensions, or any combination not exceeding a total of three years upon written consent of the contractual parties.

ESTIMATED QUANTITIES: The quantities shown in the schedule are an estimate calculated upon prior purchase records. The quantities shown may be considered minimum; however, the City, based on need, may increase or decrease said quantities.

NON-CONTRACT PURCHASES: The City may elect purchase automotive parts and supplies outside of this contract if, in the opinion of the City, this is necessary to meet operation requirements.

SAMPLE CONTRACT AND INSURANCE REQUIREMENTS: A Sample of a City contract as would normally be used in this procurement is attached as Attachment E and Attachment One. Contractors are not required to sign said contract at time of bid submittal. A contract in final form will be forwarded to the successful bidder for signature prior to contract award. As part of the bid, a bidder must evaluate the terms and conditions and provide any exceptions. Any exceptions taken to the draft contract must be provided in the Exceptions Section on Attachment D Required Data Forms.

Any deviation from the written specifications shown in the Invitation For Bid shall be noted in the Exceptions Section listed on Attachment D Required Data Forms.